Time allowed: 25 Minutes

ECONOMICS HSSC-II
SECTION — A (Marks 20)

NOTE: Section-A is compulsory. All parts of this section are to be answered on the question paper itself.
It should be completed in the first 25 minutes and handed over to the Centre Superintendent.
Deleting/overwriting is not allowed. Do not use lead pencil.

Q.1  Circle the correct option i.e. A/ B/ C / D. Each part carries one mark.

U
(it

(iii)

(iv)

(v)

(vi)

(vii)

(viii)

(xvi)

{xvii)

(xviii)

Per capita income is income per

A Worker B. Head C. Household D. Industrial unit
If Saving exceeds Investment .

A National Income rises ‘ B. National Income falis

C. National Income is not affected =~ = D. None of these

Which of the following is the medium of exchange?

A Black money B. Near money

C. Currency D. Foreign exchange

Commercial Banks (create)

A Credit money B. Token money

103 Do not create money D. None of these

Profit and loss sharing is the basis of finance under :

A Isiamic system B. Capitalistic system

C. Socialistic system D. None of these

Discount rate of the State Bank of Pakistan is )

A Less than 5% B. More than 5% but iess than 15%
C. More than 15% but less than 25% D. More than 25%

The most important source of income of a government is .

A Foreign loans B. Printing of new money

C Sale of government property D. Taxes

If C=200 and i=40, Y will be

A 160 B. 200 C 240 D. 800

A company imported computers and paid import tax. Burden of tax wili be on

A importer B. Wholesaler C. Final Buyer D. Retailer
in Pakistan, percentage of labour force is working in Agricuiture.

A 14% B. 24% C. 34% D. 44%
Base year of Pakistan for National Accounting is

A 1979-1980 B. 1989-1990 C. 1999-2000 D. 2009-2010
Literacy rate in 2011-12 in Pakistan was

A 37% B. 47% C 57% D. None of these
The largest share in Pakistan GNP is that of .

A Service Sector B. Industry Sector

C. Agricuiture Sector D. Banking Sector

Eccnomic Development is measured on the basis of .

A increase in Personal Income B. Increase in Real GNP

C. increase in Nominal Income D. Increase in Government Revenue
Unemployment takes place because of

A High Demand for labour B. More exports

C. High Population growth rate D. High Education rate
Nationalization of commercial banks in Pakistan was done in .

A 1974 AD B. 1976 AD C. 1978 AD D. 1980 AD
Credit money is controlled by .

A Government B. Commercial Banks

C. Central Bank D. Stock Exchange

Devaluation of currency can help to increase exports if elasticity of demand of exportable items in other
countries is

A. Greater than one B. Less than one

C. Equal to one D. Equal to zero

Basic principle of Islamic Economic System is .

A Equality B. Justice C High Profit D. Less consumption
People do not care for environment problems because of __ .

A Lack of Education B. Fear of taxes

C. Poverty D. Both Aand C

For Examiner’s use only:
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www . StudentBounty.com



http://www.studentbounty.com
http://www.StudentBounty.com

Roll No.

AnsWer Sheet No.

Sig. of Invigilator.

Sig. of Candidate

- ol ol gl alpblna
(ZOZ/JJ)J?!JD w225 el

et dv‘#rrﬁy.d.;;(,rJéuq,u/:,r.z_z,g:fL.w_f.f/(’c.f_fd{;Mé,;lm.Lg:'gé_:u{;_{.-,yzz:._,rr..f_d:ud;l;. (L

e AL, L S Mo L3 18 s s I G L s 1Ly
P W Vel (i)

AR A g - SaTdoit L JuTS A — SaTmpod -
Frnkie S S 2 i) (il

e wetts o sutndfdaE b cdndrdals o coubiadais L
i . i & S ew B D SededTfe e i)
NI 4 Bl {iv)

S it o L8y L S5 e - AT L
el AAgedd

VAT - S & Sisgh s o St L
e B ST (vi)

e 15%Ehsiie 5% — Fe 5% i

i 25% . e 25%Foskic 15% .t
P I B T 2 (vii)

= et P ATy 2 N3 G e — E 0
Py GuT7 40=UMlr 1200=3 251 (vil])

800 - 240 & 200 — 160 .ot
ety 2160 e S5t S 0

SR . e | Ay P - Aikn - i _h
< LAV piins e ot i e (x)

444 - 2434 3 424 o T e
- Sl Lo o i Lot (xi)

,2009-2010 - ,1999-2000 "3 (1980-1990  _u. ,1979-1980 .
AT AR 2 BT & wdar o dsr el itoriteon2 (i)
cenbiaof g Shedurt (xiif)

AT - R 3 h SO oot Ll
et crod SFR I )

eGP - JaTds 3 LiiE o S L
ce Ut bk (xv)

ji'f(/; - gt =& ety - A -y
Leird SRS, vi)

+1980 iy 1978 L (1976 - 974 L
e O S s (xvii)

A - £dlr b AV S O
P LS i S bpsats fie it e loa JUta3ds (i)

L - 2l 3 fed - plic 061 i
e - &m:y L el e el e Jf!d;y;bf(w)&b»dnw {xix)

UGl -2

S gﬁ’d_b'?ﬂﬂ/&}':’k:..‘»u( oL {xx)
o f & LT — S

_-‘J_.flr‘r [on | : /j .‘cfvi_’/.

www StudentBounty.com



http://www.studentbounty.com

ECONOMICS HSSC-II

Time allowed: 2:35 Hours Total Marks Sections B and C: 80

NOTE:

Answer any fifteen parts from Section ‘B(a)’ ,one part from Section ‘B(b)’ and any three questions
from Section ‘C’ on the separately provided answer book. Use supplementary answer sheet i.e.
Sheet-B if required. Write your answers neatly and legibly.

Note:
Q.3
Q.4
Q.5
Q.6

(xi)

(xii)
( xiii)
(Xiv)
(xv)
(xvi)

(xvil)
(xviil)

{(xix)

SECTION — B {Marks 50)

Attempt any FIFTEEN parts. The answer to each part should not exceed 3 to 5 lines.
(15 x 3 = 45)

Define Disposable Personal Income.

Differentiate between Autonomous Investment and Induced Investment.
Define National Income.

Define Consumption function.

What is Demand Pull Inflation?

Define Public Finance.

Why do people demand for money?

What is the difference between Zakat and Ushr?

Differentiate between MPC (Marginal Propensity to Consume) and MPS (Marginal Propensity to Save).
Explain the meaning of Ehsan.

What is meant by Tax culture?

Write any three reasons of low per capita income in Pakistan.

Write any three problems of Barter System.

Differentiate between Balance of Trade and Balance of Payment.

Write any three advantages of Muiti-National companies.

Reproduce and Complete the following table on your answer sheet:

“Income 200 “300 | 400 ] 500 |
Consumption | 220 | 300 | 380 [ 460
Saving | - : - -

Define Unemployment.

Differentiate between Money Income and Real Income.
Define Money.

What is the mobility of Labour?

Why are the services of house wives not included in National Income?
Attempt any ONE part. (1x5=5)

Differentiate between Progressive and Proportional tax.
Prove with the help of a diagram that National Income is determined where aggregate Saving
is equal to aggregate Investment.

SECTION — C (Marks 30)

Attempt any THREE questions. All questions carry equa! marks. (3 x 10 =30)

Explain Quantity Theory of Money.

How does the Central Bank control money supply in a country?

Explain why Industrial Development in Pakistan is low.

What are the different methods for measurement of National Income? Explain.
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